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1. (2022 « REBILL « hk) Dhltand=2, N —2 _
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Sin(E —6) —sin(zr —6)
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in(=+6)— —0
. Sm(f Jremlr—E) oo (—cos ) 2cos 6 2
FRAT - = : = — = =—2.
T cosf—smé cosfd—smnf 1-tand

Sin(E —0) —sin(z —0)

2. (2022 ~FERHEEIL k) EEIREL f(x) =asin(zx+a)+bcos(zx+ B) » H. f(3)=3, M £(2022)FMENC )
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e, f(3)=asin(B37+a)+bcos(3z+ B)=—asina—bcos =3, FrLlasina+bcos=-3,

i £(2022) = asin(20227+ ) +bcos(20227z+ f) = asina +bcos f=-3.

3. (2022 « HITHIR « k) E%ﬂsin(%—x)zgy mucos(%—x)z
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‘i«ﬁIf:z—x, ﬂﬂxzf—t, Esint:lr ﬁﬁw\C-OS(7—7Z-—)C)=COS[7—7Z.—(£—Z‘)]=C0$(£-I—Z‘)=—Siﬂl‘=—§.
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Fﬁlcos(lz o) cos[12 ( 12)] cos(2 ) =sint

AN -m<a<-Z, FA-TF ;=% L0, #hsint<0,
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FItBA sint = —/1—cos> ¢ =— \3/_, Eﬁcos(%—a):—T\/_.



5. (2022 « (117 45 « ek k) £ sinl0° =asinl00°, Msin20°= ¢ )

(A) _“ (R . & (c) 2° (ny .. o
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AR, sinl0° = asinl100° = asin(90° +10°) =acos10°, Frlltanl10° =a,

. . 2sin10°cos10°  2tan10° 2
i 5in 20° = 25in10° cos10° = om0 cosl0 _ 2tanld _ 2z
sin“10° +cos”10° tan"10°+1 a” +1

6. (kkk) 1HH:

Ig(tan1®) +Ig(tan2”) +---+1g(tan89°)

(1) sin?1° +sin”2° +sin”3° +---+sin” 89° = . (2)

sin®1° +sin®2° +---+sin” 89°

= (1) %; (2) 0

BRAT: (1)

168 =sin”1° +sin” 2° +sin* 3° +---+sin” 89° ),

A 4 sin1° =sin(90° —89°) = cos89°, sin2° =sin(90° —88°) = cos88°, ***, sin89° =sin(90° —1°) = cos1°®,

AR DE: S =cos”89° +cos”88° +cos” 87° +-+-+cos’1° =cos’ 1° +cos* 2° +cos* 3° +---+cos” 89° (2),

FrLA@ + @R[ 15 : 28 = (sin’ I° +cos? 1°) + (sin* 2° +cos* 2°) +-- -+ (sin” 89° +cos* 89°) =89, W S = ?

(2) (| - lg(tan1”) +1g(tan2°) +--- +Ig(tan89°) = Ig(tan1° tan 2° - -- tan 89°) ,

ﬁ%tanlﬂmnzﬂ_”wnggﬂzsml sin2”  singY §m1 _s.1n2 '__311-189 1,
cosl’® cos2® cos89° sin89° sin88°  sinl’

Firbl1g(tan1° tan2° ---tan89°) =1g1 =0, WA =0.



